The torque of a rotor under running condition is 
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The condition for maximum torque may be obtained by differentiating the above expression w.r.t. slip s and then putting it equal to zero. However, it is simpler to put

  

and then differentiating it.

� EMBED Equation.3  ���








[image: image2.wmf]T

Y

1

=

_1336205505.unknown

_1336206156.unknown

_1336313885.unknown

_1336315318.unknown

_1336318877.unknown

_1336313699.unknown

_1336206153.unknown

_1336203930.unknown

_1336205096.unknown

_1336203848.unknown

